State of New Hampshire Department of Transportation

Project:	PEMBROKE X-A000(414) 14477A
County and Code:	MERRIMACK COUNTY 013
Date Bids Open:	December 4, 2014
Scope of Work:	ROADWAY SAFETY IMPROVEMENTS
Location:	AT THE US 3 / BOW LANE / PEMBROKE HILL ROAD INTERSECTION
Completion Date:	October 16, 2015
A WEAVER BROS. CONST. CO., INC. PO BOX 1326 CONCORD, NH 03302	\$1,170,307.60
B CONTINENTAL PAVING INC. ONE CONTINENTAL DRIVE, LONDONDERRY, NH	03053 \$1,172,281.50
C BUSBY CONSTRUCTION CO., INC. 71 NH ROUTE 111 ATKINSON, NH 03811	\$1,209,124.80
D F. L. MERRILL CONSTRUCTION INC. 619 SAND ROAD, PEMBROKE, NH 03275	\$1,211,379.80
E GEORGE R. CAIRNS AND SONS, INC. 8 LEDGE RD., WINDHAM, NH 03087	\$1,286,596.60
F NORTHEAST EARTH MECHANICS, INC. 159 BARNSTEAD RD., PITTSFIELD, NH 03267	\$1,298,636.00

Item					A		В		С
No:	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
201.1	CLEARING AND GRUBBING (F)	A	0.13	\$50,000.00	\$6,500.00	\$25,000.00	\$3,250.00	\$35,000.00	\$4,550.00
201.21	REMOVING SMALL TREES	EA	16.00	\$300.00	\$4,800.00	\$500.00	\$8,000.00	\$250.00	\$4,000.00
201.22	REMOVING LARGE TREES	EA	1.00	\$400.00	\$400.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00
201.881	INVASIVE SPECIES CONTROL TYPE I	SY	5,050.00	\$2.00	\$10,100.00	\$3.00	\$15,150.00	\$1.60	\$8,080.00
201.882	INVASIVE SPECIES CONTROL TYPE II	SY	50.00	\$5.00	\$250.00	\$10.00	\$500.00	\$5.00	\$250.00
202.31	FILL ABANDONED PIPE	CY	10.00	\$225.00	\$2,250.00	\$175.00	\$1,750.00	\$175.00	\$1,750.00
202.41	REMOVAL OF EXISTING PIPE 0-24" DIAMETER	LF	1,065.00	\$12.00	\$12,780.00	\$15.00	\$15,975.00	\$10.00	\$10,650.00
202.5	REMOVAL OF CATCH BASINS, DROP INLETS, AND MANHOLES	EA	3.00	\$350.00	\$1,050.00	\$350.00	\$1,050.00	\$260.00	\$780.00
202.7	REMOVAL OF GUARDRAIL	LF	650.00	\$1.65	\$1,072.50	\$2.00	\$1,300.00	\$1.50	\$975.00
202.8	REMOVAL OF FENCE	LF	100.00	\$6.75	\$675.00	\$10.00	\$1,000.00	\$5.00	\$500.00
203.1	COMMON EXCAVATION	CY	4,875.00	\$10.00	\$48,750.00	\$15.00	\$73,125.00	\$14.00	\$68,250.00
203.2	ROCK EXCAVATION	CY	160.00	\$25.00	\$4,000.00	\$125.00	\$20,000.00	\$20.00	\$3,200.00
203.55551	GUARDRAIL 25' EAGRT PLATFORM ALTERNATE	U	4.00	\$950.00	\$3,800.00	\$1,250.00	\$5,000.00	\$850.00	\$3,400.00
203.6	EMBANKMENT-IN-PLACE (F)	CY	2,330.00	\$7.85	\$18,290.50	\$5.00	\$11,650.00	\$7.40	\$17,242.00
206.1	COMMON STRUCTURE EXCAVATION	CY	70.00	\$15.00	\$1,050.00	\$20.00	\$1,400.00	\$20.00	\$1,400.00
206.19	COMMON STRUCTURE EXCAVATION EXPLORATORY	CY	50.00	\$85.00	\$4,250.00	\$50.00	\$2,500.00	\$45.00	\$2,250.00
206.2	ROCK STRUCTURE EXCAVATION	CY	50.00	\$30.00	\$1,500.00	\$125.00	\$6,250.00	\$80.00	\$4,000.00
209.2	GRANULAR BACKFILL (BRIDGE)	CY	120.00	\$35.00	\$4,200.00	\$30.00	\$3,600.00	\$50.00	\$6,000.00
214	FINE GRADING	U	1.00	\$21,350.00	\$21,350.00	\$7,500.00	\$7,500.00	\$23,000.00	\$23,000.00
304.1	SAND (F)	CY	850.00	\$18.50	\$15,725.00	\$15.00	\$12,750.00	\$22.00	\$18,700.00
304.4	CRUSHED STONE (FINE GRADATION) (F)	CY	940.00	\$23.25	\$21,855.00	\$27.00	\$25,380.00	\$26.00	\$24,440.00

Item					A		В	С		
No:	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total	
304.45	CRUSHED STONE (FINE GRADATION) FOR DRIVES	CY	75.00	\$23.75	\$1,781.25	\$35.00	\$2,625.00	\$43.00	\$3,225.00	
304.499	TEMPORARY CRUSHED STONE (FINE GRADATION)	CY	110.00	\$27.85	\$3,063.50	\$35.00	\$3,850.00	\$50.00	\$5,500.00	
304.5	CRUSHED STONE (COARSE GRADATION) (F)	CY	990.00	\$23.25	\$23,017.50	\$27.00	\$26,730.00	\$25.00	\$24,750.00	
403.11	HOT BITUMINOUS PAVEMENT, MACHINE METHOD	TON	425.00	\$85.00	\$36,125.00	\$80.00	\$34,000.00	\$95.00	\$40,375.00	
403.1109	HOT BITUMINOUS PAVEMENT, MACHINE METHOD, HIGH STRENGTH	TON	735.00	\$95.00	\$69,825.00	\$90.00	\$66,150.00	\$88.00	\$64,680.00	
403.12	HOT BITUMINOUS PAVEMENT, HAND METHOD	TON	200.00	\$125.00	\$25,000.00	\$105.00	\$21,000.00	\$120.00	\$24,000.00	
403.6	PAVEMENT JOINT ADHESIVE	LF	10,150.00	\$0.80	\$8,120.00	\$0.25	\$2,537.50	\$0.50	\$5,075.00	
403.98	HOT BITUMINOUS CONCRETE LEVELING, MACHINE METHOD	TON	975.00	\$80.00	\$78,000.00	\$75.00	\$73,125.00	\$79.00	\$77,025.00	
403.99	TEMPORARY BITUMINOUS PAVEMENT	TON	100.00	\$95.00	\$9,500.00	\$90.00	\$9,000.00	\$103.00	\$10,300.00	
417	COLD PLANING BITUMINOUS SURFACES	SY	4,350.00	\$2.20	\$9,570.00	\$2.00	\$8,700.00	\$2.30	\$10,005.00	
585.32	STONE FILL, CLASS C INTERMIXED WITH HUMUS	CY	40.00	\$55.00	\$2,200.00	\$40.00	\$1,600.00	\$55.00	\$2,200.00	
592.5	MODULAR BLOCK RETAINING WALL	SF	800.00	\$30.00	\$24,000.00	\$30.00	\$24,000.00	\$29.00	\$23,200.00	
593.411	GEOTEXTILE; PERM CONTROL CL.1, NON-WOVEN	SY	110.00	\$3.00	\$330.00	\$4.00	\$440.00	\$2.40	\$264.00	
603.0001	VIDEO INSPECTION	LF	740.00	\$1.25	\$925.00	\$1.00	\$740.00	\$1.00	\$740.00	
603.00212	12" R.C. PIPE, 2000D	LF	10.00	\$102.90	\$1,029.00	\$100.00	\$1,000.00	\$79.00	\$790.00	
603.00215	15" R.C. PIPE, 2000D	LF	110.00	\$106.60	\$11,726.00	\$85.00	\$9,350.00	\$85.00	\$9,350.00	
603.00218	18" R.C. PIPE, 2000D	LF	620.00	\$51.00	\$31,620.00	\$80.00	\$49,600.00	\$47.00	\$29,140.00	
604.0007	POLYETHYLENE LINER	EA	14.00	\$150.00	\$2,100.00	\$110.00	\$1,540.00	\$160.00	\$2,240.00	
604.12	CATCH BASINS TYPE B	U	1.00	\$1,950.00	\$1,950.00	\$3,000.00	\$3,000.00	\$2,000.00	\$2,000.00	

Item					A		В		С
No:	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
604.22	DROP INLETS TYPE B	U	7.50	\$2,100.00	\$15,750.00	\$2,500.00	\$18,750.00	\$2,000.00	\$15,000.00
604.324	DRAINAGE MANHOLES, 4-FOOT DIAMETER	U	7.00	\$2,280.00	\$15,960.00	\$2,500.00	\$17,500.00	\$2,200.00	\$15,400.00
604.4	RECONSTRUCTING/ADJUST ING CATCH BASIN & DROP INLET	LF	40.00	\$350.00	\$14,000.00	\$350.00	\$14,000.00	\$285.00	\$11,400.00
604.51	RECONSTRUCTING/ADJUST ING SEWER MANHOLES	LF	10.00	\$350.00	\$3,500.00	\$400.00	\$4,000.00	\$285.00	\$2,850.00
604.618	REPLACE SEWER MANHOLE FRAME AND COVER (SUPPLIED BY OTHERS)	EA	1.00	\$300.00	\$300.00	\$450.00	\$450.00	\$330.00	\$330.00
604.62	DRAINAGE MANHOLE COVERS AND FRAMES	EA	1.00	\$600.00	\$600.00	\$500.00	\$500.00	\$575.00	\$575.00
605.504	4" PERFORATED CORREGATED POLYETHYL. PIPE UND.	LF	240.00	\$8.00	\$1,920.00	\$20.00	\$4,800.00	\$10.00	\$2,400.00
606.000	STEEL BEAM FOR BEAM GUARDRAIL	LF	75.00	\$8.40	\$630.00	\$8.00	\$600.00	\$8.40	\$630.00
606.014	6"X8" WOOD POST REPLACE- MENTS FOR BEAM GUARDRAIL POSTS	EA	10.00	\$57.75	\$577.50	\$60.00	\$600.00	\$58.00	\$580.00
606.0142	6"X8" WOOD POST ASSEMBLIES FOR BEAM GUARDRAIL POSTS	EA	10.00	\$15.75	\$157.50	\$15.00	\$150.00	\$15.75	\$157.50
606.1255	BEAM GUARDRAIL (TERMINAL UNIT TYPE EAGRT 25 FT) (STEEL POST)	U	4.00	\$1,968.75	\$7,875.00	\$1,900.00	\$7,600.00	\$1,970.00	\$7,880.00
606.18001	31" W-BEAM GUARDRAIL WITH 8" OFFSET BLOCK (STEEL POST)	LF	275.00	\$17.33	\$4,765.75	\$17.00	\$4,675.00	\$17.25	\$4,743.75
608.12	2" BITUMINOUS SIDEWALK (F)	SY	930.00	\$13.90	\$12,927.00	\$13.00	\$12,090.00	\$13.80	\$12,834.00
608.24	4" CONCRETE SIDEWALK (F)	SY	65.00	\$43.00	\$2,795.00	\$35.00	\$2,275.00	\$47.00	\$3,055.00
608.54	DETECTABLE WARNING DEVICES, CAST IRON	SY	12.00	\$425.00	\$5,100.00	\$450.00	\$5,400.00	\$365.00	\$4,380.00

Item					A		B		С
No:	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
609.01	STRAIGHT GRANITE CURB	LF	400.00	\$20.50	\$8,200.00	\$19.00	\$7,600.00	\$18.50	\$7,400.00
609.5	RESET GRANITE CURB	LF	386.00	\$9.50	\$3,667.00	\$8.00	\$3,088.00	\$7.00	\$2,702.00
611.05206	6" CEMENT LINED DUCTILE IRON WATER PIPE, CL 52	LF	40.00	\$84.00	\$3,360.00	\$150.00	\$6,000.00	\$132.00	\$5,280.00
611.50107	3/4" COPPER WATER PIPE	LF	50.00	\$39.00	\$1,950.00	\$60.00	\$3,000.00	\$89.00	\$4,450.00
611.51007	3/4" CORPORATION STOP	EA	1.00	\$140.00	\$140.00	\$300.00	\$300.00	\$250.00	\$250.00
611.52007	3/4" CURB STOP	EA	1.00	\$225.00	\$225.00	\$300.00	\$300.00	\$175.00	\$175.00
611.70006	6" FITTING	EA	6.00	\$600.00	\$3,600.00	\$750.00	\$4,500.00	\$210.00	\$1,260.00
614.511	CONCRETE PULL BOX 14"	EA	6.00	\$399.00	\$2,394.00	\$320.00	\$1,920.00	\$325.00	\$1,950.00
614.523	MOLDED PULL BOX 17"X30"	EA	3.00	\$399.00	\$1,197.00	\$420.00	\$1,260.00	\$325.00	\$975.00
614.73114	3" PVC CONDUIT, SCHEDULE 40	LF	130.00	\$21.00	\$2,730.00	\$10.00	\$1,300.00	\$8.50	\$1,105.00
614.73118	3" PVC CONDUIT, SCHEDULE 80	LF	290.00	\$26.25	\$7,612.50	\$15.00	\$4,350.00	\$21.00	\$6,090.00
615.03	TRAFFIC SIGN TYPE C (F)	SF	96.00	\$60.00	\$5,760.00	\$55.00	\$5,280.00	\$58.00	\$5,568.00
615.06	TRAFFIC SIGN TYPE CC (F)	SF	20.00	\$22.00	\$440.00	\$20.00	\$400.00	\$21.00	\$420.00
616.101	TRAFFIC SIGNALS	U	1.00	\$99,435.00	\$99,435.00	\$97,500.00	\$97,500.00	\$104,000.00	\$104,000.00
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	80,000.00	\$1.00	\$80,000.00	\$1.00	\$80,000.00	\$1.00	\$80,000.00
618.7	FLAGGERS	HR	2,100.00	\$23.50	\$49,350.00	\$23.00	\$48,300.00	\$21.00	\$44,100.00
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$37,750.00	\$37,750.00	\$25,000.00	\$25,000.00	\$75,000.00	\$75,000.00
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	4.00	\$5,500.00	\$22,000.00	\$2,500.00	\$10,000.00	\$5,000.00	\$20,000.00
621.2	RETROREFLECTIVE BEAM GUARDRAIL DELINEATOR	EA	9.00	\$4.40	\$39.60	\$5.00	\$45.00	\$4.20	\$37.80
621.31	SINGLE DELINEATOR WITH POST	EA	47.00	\$36.30	\$1,706.10	\$33.00	\$1,551.00	\$34.00	\$1,598.00
621.32	DOUBLE DELINEATOR WITH POST	EA	2.00	\$44.00	\$88.00	\$40.00	\$80.00	\$42.00	\$84.00
622.1	STEEL WITNESS MARKERS	EA	6.00	\$27.50	\$165.00	\$25.00	\$150.00	\$26.00	\$156.00
622.2	CONCRETE BOUNDS	EA	20.00	\$423.50	\$8,470.00	\$400.00	\$8,000.00	\$400.00	\$8,000.00
628.2	SAWED BITUMINOUS PAVEMENT	LF	2,125.00	\$2.50	\$5,312.50	\$1.00	\$2,125.00	\$1.50	\$3,187.50

Item					A		B		C
No:	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
632.0104	RETROREFLECTIVE PAINT PAVE. MARKING, 4" LINE	LF	28,000.00	\$0.17	\$4,760.00	\$0.15	\$4,200.00	\$0.16	\$4,480.00
632.0118	RETROREFLECTIVE PAINT PAVE. MARKING, 18" LINE	LF	170.00	\$3.30	\$561.00	\$3.00	\$510.00	\$3.15	\$535.50
632.3104	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 4" LINE	LF	175.00	\$1.10	\$192.50	\$1.00	\$175.00	\$1.05	\$183.75
632.3106	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 6" LINE	LF	210.00	\$1.38	\$289.80	\$1.25	\$262.50	\$1.30	\$273.00
632.3118	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 18" LINE	LF	140.00	\$5.50	\$770.00	\$5.00	\$700.00	\$5.25	\$735.00
632.32	RETROREFLECT. THERMOPLAS. PAVEMENT MARKING, SYMBOL OR WORD	SF	250.00	\$11.00	\$2,750.00	\$10.00	\$2,500.00	\$10.50	\$2,625.00
632.911	OBLITERATE PAVE. MARKING LINE, 12" WIDE & UNDER	LF	6,450.00	\$0.66	\$4,257.00	\$0.60	\$3,870.00	\$0.63	\$4,063.50
641	LOAM	CY	250.00	\$26.00	\$6,500.00	\$20.00	\$5,000.00	\$24.50	\$6,125.00
645.12	TEMPORARY MULCH	А	0.70	\$1,100.00	\$770.00	\$1,000.00	\$700.00	\$1,050.00	\$735.00
645.3	EROSION STONE	TON	100.00	\$23.75	\$2,375.00	\$18.00	\$1,800.00	\$24.00	\$2,400.00
645.43	TEMPORARY SLOPE STABILIZATION TYPE C	SY	1,250.00	\$1.60	\$2,000.00	\$1.75	\$2,187.50	\$1.55	\$1,937.50
645.512	COMPOST SOCK FOR PERIMETER BERM	LF	420.00	\$5.00	\$2,100.00	\$4.00	\$1,680.00	\$4.00	\$1,680.00
645.531	SILT FENCE	LF	2,700.00	\$2.50	\$6,750.00	\$4.00	\$10,800.00	\$2.50	\$6,750.00
645.7	STORM WATER POLLUTION PREVENTION PLAN	U	1.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00
645.71	MONITORING SWPPP AND EROSION AND SEDIMENT CONTROLS	HR	150.00	\$52.00	\$7,800.00	\$50.00	\$7,500.00	\$50.00	\$7,500.00
646.31	TURF ESTABLISHMENT WITH MULCH AND TACKIFIERS	SY	6,280.00	\$0.42	\$2,637.60	\$0.50	\$3,140.00	\$0.40	\$2,512.00
647.1	HUMUS	CY	330.00	\$14.00	\$4,620.00	\$15.00	\$4,950.00	\$19.00	\$6,270.00

Item					A		В		C
No:	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
670.0441	RELOCATE HISTORIC FEATURE	U	1.00	\$1,800.00	\$1,800.00	\$7,500.00	\$7,500.00	\$5,000.00	\$5,000.00
670.066	MAILBOX SUPPORT ASSEMBLIES	EA	13.00	\$165.00	\$2,145.00	\$250.00	\$3,250.00	\$135.00	\$1,755.00
692	MOBILIZATION	U	1.00	\$65,000.00	\$65,000.00	\$50,000.00	\$50,000.00	\$65,000.00	\$65,000.00
697.11	INVASIVE SPECIES CONTROL AND MANAGEMENT PLAN	U	1.00	\$1,000.00	\$1,000.00	\$1,500.00	\$1,500.00	\$785.00	\$785.00
698.13	FIELD OFFICE TYPE C	MON	10.00	\$1,675.00	\$16,750.00	\$2,000.00	\$20,000.00	\$1,500.00	\$15,000.00
699	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	25,000.00	\$1.00	\$25,000.00	\$1.00	\$25,000.00	\$1.00	\$25,000.00
1009.21	TREATMENT OR DISPOSAL OF CONTAMINATED GROUNDWATER (FRAC TANK)	\$	20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00
1010.15	FUEL ADJUSTMENT	\$	20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00
1010.2	ASPHALT CEMENT ADJUSTMENT	\$	10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00
				5	\$1,170,307.60	:	\$1,172,281.50	\$	1,209,124.80

Item					D		E	F	
No:	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
201.1	CLEARING AND GRUBBING (F)	А	0.13	\$21,400.00	\$2,782.00	\$16,000.00	\$2,080.00	\$15,000.00	\$1,950.00
201.21	REMOVING SMALL TREES	EA	16.00	\$385.00	\$6,160.00	\$275.00	\$4,400.00	\$240.00	\$3,840.00
201.22	REMOVING LARGE TREES	EA	1.00	\$2,200.00	\$2,200.00	\$1,100.00	\$1,100.00	\$1,000.00	\$1,000.00
201.881	INVASIVE SPECIES CONTROL TYPE I	SY	5,050.00	\$3.85	\$19,442.50	\$1.70	\$8,585.00	\$5.00	\$25,250.00
201.882	INVASIVE SPECIES CONTROL TYPE II	SY	50.00	\$5.50	\$275.00	\$8.50	\$425.00	\$30.00	\$1,500.00
202.31	FILL ABANDONED PIPE	CY	10.00	\$142.00	\$1,420.00	\$475.00	\$4,750.00	\$300.00	\$3,000.00
202.41	REMOVAL OF EXISTING PIPE 0-24" DIAMETER	LF	1,065.00	\$16.00	\$17,040.00	\$8.00	\$8,520.00	\$28.00	\$29,820.00
202.5	REMOVAL OF CATCH BASINS, DROP INLETS, AND MANHOLES	EA	3.00	\$260.00	\$780.00	\$570.00	\$1,710.00	\$700.00	\$2,100.00
202.7	REMOVAL OF GUARDRAIL	LF	650.00	\$3.30	\$2,145.00	\$1.65	\$1,072.50	\$3.00	\$1,950.00
202.8	REMOVAL OF FENCE	LF	100.00	\$3.30	\$330.00	\$6.45	\$645.00	\$5.50	\$550.00
203.1	COMMON EXCAVATION	CY	4,875.00	\$9.50	\$46,312.50	\$12.70	\$61,912.50	\$6.60	\$32,175.00
203.2	ROCK EXCAVATION	CY	160.00	\$9.50	\$1,520.00	\$39.00	\$6,240.00	\$40.00	\$6,400.00
203.55551	GUARDRAIL 25' EAGRT PLATFORM ALTERNATE	U	4.00	\$1,200.00	\$4,800.00	\$975.00	\$3,900.00	\$1,150.00	\$4,600.00
203.6	EMBANKMENT-IN-PLACE (F)	CY	2,330.00	\$5.60	\$13,048.00	\$11.85	\$27,610.50	\$5.00	\$11,650.00
206.1	COMMON STRUCTURE EXCAVATION	CY	70.00	\$27.00	\$1,890.00	\$22.50	\$1,575.00	\$25.00	\$1,750.00
206.19	COMMON STRUCTURE EXCAVATION EXPLORATORY	CY	50.00	\$33.80	\$1,690.00	\$47.00	\$2,350.00	\$30.00	\$1,500.00
206.2	ROCK STRUCTURE EXCAVATION	CY	50.00	\$9.40	\$470.00	\$22.50	\$1,125.00	\$100.00	\$5,000.00
209.2	GRANULAR BACKFILL (BRIDGE)	CY	120.00	\$32.80	\$3,936.00	\$32.00	\$3,840.00	\$35.00	\$4,200.00
214	FINE GRADING	U	1.00	\$17,900.00	\$17,900.00	\$12,000.00	\$12,000.00	\$8,500.00	\$8,500.00
304.1	SAND (F)	CY	850.00	\$15.10	\$12,835.00	\$29.00	\$24,650.00	\$19.00	\$16,150.00
304.4	CRUSHED STONE (FINE GRADATION) (F)	CY	940.00	\$25.00	\$23,500.00	\$35.00	\$32,900.00	\$24.50	\$23,030.00

Item					D		E	F		
No:	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total	
304.45	CRUSHED STONE (FINE GRADATION) FOR DRIVES	CY	75.00	\$25.00	\$1,875.00	\$48.00	\$3,600.00	\$38.00	\$2,850.00	
304.499	TEMPORARY CRUSHED STONE (FINE GRADATION)	CY	110.00	\$25.75	\$2,832.50	\$30.00	\$3,300.00	\$38.00	\$4,180.00	
304.5	CRUSHED STONE (COARSE GRADATION) (F)	CY	990.00	\$25.00	\$24,750.00	\$34.00	\$33,660.00	\$25.00	\$24,750.00	
403.11	HOT BITUMINOUS PAVEMENT, MACHINE METHOD	TON	425.00	\$90.10	\$38,292.50	\$89.00	\$37,825.00	\$96.00	\$40,800.00	
403.1109	HOT BITUMINOUS PAVEMENT, MACHINE METHOD, HIGH STRENGTH	TON	735.00	\$100.00	\$73,500.00	\$100.00	\$73,500.00	\$108.00	\$79,380.00	
403.12	HOT BITUMINOUS PAVEMENT, HAND METHOD	TON	200.00	\$126.00	\$25,200.00	\$132.00	\$26,400.00	\$126.00	\$25,200.00	
403.6	PAVEMENT JOINT ADHESIVE	LF	10,150.00	\$0.26	\$2,639.00	\$0.55	\$5,582.50	\$0.45	\$4,567.50	
403.98	HOT BITUMINOUS CONCRETE LEVELING, MACHINE METHOD	TON	975.00	\$117.00	\$114,075.00	\$89.00	\$86,775.00	\$90.00	\$87,750.00	
403.99	TEMPORARY BITUMINOUS PAVEMENT	TON	100.00	\$12.10	\$1,210.00	\$132.00	\$13,200.00	\$108.00	\$10,800.00	
417	COLD PLANING BITUMINOUS SURFACES	SY	4,350.00	\$2.20	\$9,570.00	\$2.90	\$12,615.00	\$7.50	\$32,625.00	
585.32	STONE FILL, CLASS C INTERMIXED WITH HUMUS	CY	40.00	\$43.75	\$1,750.00	\$60.00	\$2,400.00	\$46.50	\$1,860.00	
592.5	MODULAR BLOCK RETAINING WALL	SF	800.00	\$24.00	\$19,200.00	\$29.00	\$23,200.00	\$19.75	\$15,800.00	
593.411	GEOTEXTILE; PERM CONTROL CL.1, NON-WOVEN	SY	110.00	\$3.55	\$390.50	\$1.65	\$181.50	\$6.00	\$660.00	
603.0001	VIDEO INSPECTION	LF	740.00	\$1.40	\$1,036.00	\$0.85	\$629.00	\$1.00	\$740.00	
603.00212	12" R.C. PIPE, 2000D	LF	10.00	\$126.00	\$1,260.00	\$57.00	\$570.00	\$240.00	\$2,400.00	
603.00215	15" R.C. PIPE, 2000D	LF	110.00	\$56.20	\$6,182.00	\$45.00	\$4,950.00	\$148.00	\$16,280.00	
603.00218	18" R.C. PIPE, 2000D	LF	620.00	\$63.50	\$39,370.00	\$48.00	\$29,760.00	\$70.00	\$43,400.00	
604.0007	POLYETHYLENE LINER	EA	14.00	\$220.00	\$3,080.00	\$140.00	\$1,960.00	\$160.00	\$2,240.00	
604.12	CATCH BASINS TYPE B	U	1.00	\$2,725.00	\$2,725.00	\$2,300.00	\$2,300.00	\$3,750.00	\$3,750.00	

Item					D		E		F
No:	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
604.22	DROP INLETS TYPE B	U	7.50	\$1,955.00	\$14,662.50	\$1,750.00	\$13,125.00	\$2,700.00	\$20,250.00
604.324	DRAINAGE MANHOLES, 4-FOOT DIAMETER	U	7.00	\$3,100.00	\$21,700.00	\$2,300.00	\$16,100.00	\$3,800.00	\$26,600.00
604.4	RECONSTRUCTING/ADJUST ING CATCH BASIN & DROP INLET	LF	40.00	\$310.00	\$12,400.00	\$425.00	\$17,000.00	\$360.00	\$14,400.00
604.51	RECONSTRUCTING/ADJUST ING SEWER MANHOLES	LF	10.00	\$310.00	\$3,100.00	\$425.00	\$4,250.00	\$640.00	\$6,400.00
604.618	REPLACE SEWER MANHOLE FRAME AND COVER (SUPPLIED BY OTHERS)	EA	1.00	\$275.00	\$275.00	\$500.00	\$500.00	\$485.00	\$485.00
604.62	DRAINAGE MANHOLE COVERS AND FRAMES	EA	1.00	\$473.00	\$473.00	\$890.00	\$890.00	\$545.00	\$545.00
605.504	4" PERFORATED CORREGATED POLYETHYL. PIPE UND.	LF	240.00	\$17.55	\$4,212.00	\$8.50	\$2,040.00	\$1.20	\$288.00
606.000	STEEL BEAM FOR BEAM GUARDRAIL	LF	75.00	\$8.80	\$660.00	\$8.80	\$660.00	\$13.60	\$1,020.00
606.014	6"X8" WOOD POST REPLACE- MENTS FOR BEAM GUARDRAIL POSTS	EA	10.00	\$60.60	\$606.00	\$60.00	\$600.00	\$137.00	\$1,370.00
606.0142	6"X8" WOOD POST ASSEMBLIES FOR BEAM GUARDRAIL POSTS	EA	10.00	\$16.50	\$165.00	\$16.00	\$160.00	\$29.00	\$290.00
606.1255	BEAM GUARDRAIL (TERMINAL UNIT TYPE EAGRT 25 FT) (STEEL POST)	U	4.00	\$2,065.00	\$8,260.00	\$2,065.00	\$8,260.00	\$2,300.00	\$9,200.00
606.18001	31" W-BEAM GUARDRAIL WITH 8" OFFSET BLOCK (STEEL POST)	LF	275.00	\$18.20	\$5,005.00	\$18.00	\$4,950.00	\$22.00	\$6,050.00
608.12	2" BITUMINOUS SIDEWALK (F)	SY	930.00	\$36.75	\$34,177.50	\$15.00	\$13,950.00	\$15.00	\$13,950.00
608.24	4" CONCRETE SIDEWALK (F)	SY	65.00	\$55.00	\$3,575.00	\$72.00	\$4,680.00	\$55.00	\$3,575.00
608.54	DETECTABLE WARNING DEVICES, CAST IRON	SY	12.00	\$583.00	\$6,996.00	\$35.00	\$420.00	\$415.00	\$4,980.00

Item					D		E		F
No:	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
609.01	STRAIGHT GRANITE CURB	LF	400.00	\$24.00	\$9,600.00	\$31.00	\$12,400.00	\$24.50	\$9,800.00
609.5	RESET GRANITE CURB	LF	386.00	\$16.00	\$6,176.00	\$19.00	\$7,334.00	\$10.00	\$3,860.00
611.05206	6" CEMENT LINED DUCTILE IRON WATER PIPE, CL 52	LF	40.00	\$186.00	\$7,440.00	\$130.00	\$5,200.00	\$174.00	\$6,960.00
611.50107	3/4" COPPER WATER PIPE	LF	50.00	\$140.00	\$7,000.00	\$76.00	\$3,800.00	\$120.00	\$6,000.00
611.51007	3/4" CORPORATION STOP	EA	1.00	\$1,380.00	\$1,380.00	\$745.00	\$745.00	\$114.00	\$114.00
611.52007	3/4" CURB STOP	EA	1.00	\$1,480.00	\$1,480.00	\$330.00	\$330.00	\$132.00	\$132.00
611.70006	6" FITTING	EA	6.00	\$540.00	\$3,240.00	\$175.00	\$1,050.00	\$238.00	\$1,428.00
614.511	CONCRETE PULL BOX 14"	EA	6.00	\$352.00	\$2,112.00	\$352.00	\$2,112.00	\$372.00	\$2,232.00
614.523	MOLDED PULL BOX 17"X30"	EA	3.00	\$462.00	\$1,386.00	\$462.00	\$1,386.00	\$372.00	\$1,116.00
614.73114	3" PVC CONDUIT, SCHEDULE 40	LF	130.00	\$10.00	\$1,300.00	\$10.00	\$1,300.00	\$10.00	\$1,300.00
614.73118	3" PVC CONDUIT, SCHEDULE 80	LF	290.00	\$16.40	\$4,756.00	\$16.40	\$4,756.00	\$24.00	\$6,960.00
615.03	TRAFFIC SIGN TYPE C (F)	SF	96.00	\$60.60	\$5,817.60	\$75.00	\$7,200.00	\$66.00	\$6,336.00
615.06	TRAFFIC SIGN TYPE CC (F)	SF	20.00	\$22.00	\$440.00	\$16.50	\$330.00	\$24.00	\$480.00
616.101	TRAFFIC SIGNALS	U	1.00	\$103,000.00	\$103,000.00	\$102,740.00	\$102,740.00	\$119,250.00	\$119,250.00
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	80,000.00	\$1.00	\$80,000.00	\$1.00	\$80,000.00	\$1.00	\$80,000.00
618.7	FLAGGERS	HR	2,100.00	\$25.70	\$53,970.00	\$23.30	\$48,930.00	\$27.50	\$57,750.00
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$32,250.00	\$32,250.00	\$18,450.00	\$18,450.00	\$26,550.00	\$26,550.00
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	4.00	\$2,755.00	\$11,020.00	\$5,775.00	\$23,100.00	\$4,090.00	\$16,360.00
621.2	RETROREFLECTIVE BEAM GUARDRAIL DELINEATOR	EA	9.00	\$4.40	\$39.60	\$4.40	\$39.60	\$6.00	\$54.00
621.31	SINGLE DELINEATOR WITH POST	EA	47.00	\$36.40	\$1,710.80	\$36.00	\$1,692.00	\$42.00	\$1,974.00
621.32	DOUBLE DELINEATOR WITH POST	EA	2.00	\$44.00	\$88.00	\$44.00	\$88.00	\$54.00	\$108.00
622.1	STEEL WITNESS MARKERS	EA	6.00	\$27.55	\$165.30	\$27.50	\$165.00	\$36.50	\$219.00
622.2	CONCRETE BOUNDS	EA	20.00	\$425.00	\$8,500.00	\$425.00	\$8,500.00	\$350.00	\$7,000.00
628.2	SAWED BITUMINOUS PAVEMENT	LF	2,125.00	\$1.90	\$4,037.50	\$2.20	\$4,675.00	\$2.50	\$5,312.50

Item					D		E		F
No:	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
632.0104	RETROREFLECTIVE PAINT PAVE. MARKING, 4" LINE	LF	28,000.00	\$0.16	\$4,480.00	\$0.17	\$4,760.00	\$0.30	\$8,400.00
632.0118	RETROREFLECTIVE PAINT PAVE. MARKING, 18" LINE	LF	170.00	\$3.30	\$561.00	\$3.30	\$561.00	\$2.00	\$340.00
632.3104	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 4" LINE	LF	175.00	\$1.10	\$192.50	\$1.10	\$192.50	\$2.40	\$420.00
632.3106	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 6" LINE	LF	210.00	\$1.40	\$294.00	\$1.40	\$294.00	\$3.00	\$630.00
632.3118	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 18" LINE	LF	140.00	\$5.50	\$770.00	\$5.50	\$770.00	\$7.00	\$980.00
632.32	RETROREFLECT. THERMOPLAS. PAVEMENT MARKING, SYMBOL OR WORD	SF	250.00	\$11.00	\$2,750.00	\$11.00	\$2,750.00	\$7.00	\$1,750.00
632.911	OBLITERATE PAVE. MARKING LINE, 12" WIDE & UNDER	LF	6,450.00	\$0.70	\$4,515.00	\$0.70	\$4,515.00	\$1.00	\$6,450.00
641	LOAM	CY	250.00	\$32.00	\$8,000.00	\$74.00	\$18,500.00	\$39.00	\$9,750.00
645.12	TEMPORARY MULCH	А	0.70	\$1,570.00	\$1,099.00	\$1,500.00	\$1,050.00	\$1,200.00	\$840.00
645.3	EROSION STONE	TON	100.00	\$19.55	\$1,955.00	\$46.00	\$4,600.00	\$23.00	\$2,300.00
645.43	TEMPORARY SLOPE STABILIZATION TYPE C	SY	1,250.00	\$1.70	\$2,125.00	\$1.60	\$2,000.00	\$2.00	\$2,500.00
645.512	COMPOST SOCK FOR PERIMETER BERM	LF	420.00	\$6.30	\$2,646.00	\$3.85	\$1,617.00	\$7.00	\$2,940.00
645.531	SILT FENCE	LF	2,700.00	\$2.65	\$7,155.00	\$2.75	\$7,425.00	\$3.00	\$8,100.00
645.7	STORM WATER POLLUTION PREVENTION PLAN	U	1.00	\$2,200.00	\$2,200.00	\$2,200.00	\$2,200.00	\$2,000.00	\$2,000.00
645.71	MONITORING SWPPP AND EROSION AND SEDIMENT CONTROLS	HR	150.00	\$77.10	\$11,565.00	\$50.00	\$7,500.00	\$78.00	\$11,700.00
646.31	TURF ESTABLISHMENT WITH MULCH AND TACKIFIERS	SY	6,280.00	\$0.55	\$3,454.00	\$0.45	\$2,826.00	\$0.50	\$3,140.00
647.1	HUMUS	CY	330.00	\$19.30	\$6,369.00	\$26.50	\$8,745.00	\$29.00	\$9,570.00

Item					D		E		F	
No:	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total	
670.0441	RELOCATE HISTORIC FEATURE	U	1.00	\$880.00	\$880.00	\$2,700.00	\$2,700.00	\$2,800.00	\$2,800.00	
670.066	MAILBOX SUPPORT ASSEMBLIES	EA	13.00	\$220.00	\$2,860.00	\$245.00	\$3,185.00	\$210.00	\$2,730.00	
692	MOBILIZATION	U	1.00	\$42,100.00	\$42,100.00	\$120,000.00	\$120,000.00	\$80,000.00	\$80,000.00	
697.11	INVASIVE SPECIES CONTROL AND MANAGEMENT PLAN	U	1.00	\$1,320.00	\$1,320.00	\$700.00	\$700.00	\$1,650.00	\$1,650.00	
698.13	FIELD OFFICE TYPE C	MON	10.00	\$1,650.00	\$16,500.00	\$1,700.00	\$17,000.00	\$800.00	\$8,000.00	
699	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	25,000.00	\$1.00	\$25,000.00	\$1.00	\$25,000.00	\$1.00	\$25,000.00	
1009.21	TREATMENT OR DISPOSAL OF CONTAMINATED GROUNDWATER (FRAC TANK)	\$	20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00	
1010.15	FUEL ADJUSTMENT	\$	20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00	
1010.2	ASPHALT CEMENT ADJUSTMENT	\$	10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00	
				:	\$1,211,379.80		\$1,286,596.60	\$	1,298,636.00	

			A -	PS&E	PS&E = NHDOT Cost Estimate				
Item				A۰	A-Bidder		S&E	A-PS&E	
No:	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Difference	
201.1	CLEARING AND GRUBBING (F)	A	0.13	\$50,000.00	\$6,500.00	\$11,000.00	\$1,430.00	\$5,070.00	
201.21	REMOVING SMALL TREES	EA	16.00	\$300.00	\$4,800.00	\$200.00	\$3,200.00	\$1,600.00	
201.22	REMOVING LARGE TREES	EA	1.00	\$400.00	\$400.00	\$850.00	\$850.00	(\$450.00)	
201.881	INVASIVE SPECIES CONTROL TYPE I	SY	5,050.00	\$2.00	\$10,100.00	\$1.50	\$7,575.00	\$2,525.00	
201.882	INVASIVE SPECIES CONTROL TYPE II	SY	50.00	\$5.00	\$250.00	\$3.00	\$150.00	\$100.00	
202.31	FILL ABANDONED PIPE	CY	10.00	\$225.00	\$2,250.00	\$175.00	\$1,750.00	\$500.00	
202.41	REMOVAL OF EXISTING PIPE 0-24" DIAMETER	LF	1,065.00	\$12.00	\$12,780.00	\$10.00	\$10,650.00	\$2,130.00	
202.5	REMOVAL OF CATCH BASINS, DROP INLETS, AND MANHOLES	EA	3.00	\$350.00	\$1,050.00	\$300.00	\$900.00	\$150.00	
202.7	REMOVAL OF GUARDRAIL	LF	650.00	\$1.65	\$1,072.50	\$2.00	\$1,300.00	(\$227.50)	
202.8	REMOVAL OF FENCE	LF	100.00	\$6.75	\$675.00	\$5.00	\$500.00	\$175.00	
203.1	COMMON EXCAVATION	CY	4,875.00	\$10.00	\$48,750.00	\$10.00	\$48,750.00	\$0.00	
203.2	ROCK EXCAVATION	CY	160.00	\$25.00	\$4,000.00	\$100.00	\$16,000.00	(\$12,000.00)	
203.55551	GUARDRAIL 25' EAGRT PLATFORM ALTERNATE	U	4.00	\$950.00	\$3,800.00	\$1,200.00	\$4,800.00	(\$1,000.00)	
203.6	EMBANKMENT-IN-PLACE (F)	CY	2,330.00	\$7.85	\$18,290.50	\$8.00	\$18,640.00	(\$349.50)	
206.1	COMMON STRUCTURE EXCAVATION	CY	70.00	\$15.00	\$1,050.00	\$25.00	\$1,750.00	(\$700.00)	
206.19	COMMON STRUCTURE EXCAVATION EXPLORATORY	CY	50.00	\$85.00	\$4,250.00	\$50.00	\$2,500.00	\$1,750.00	
206.2	ROCK STRUCTURE EXCAVATION	CY	50.00	\$30.00	\$1,500.00	\$100.00	\$5,000.00	(\$3,500.00)	
209.2	GRANULAR BACKFILL (BRIDGE)	CY	120.00	\$35.00	\$4,200.00	\$30.00	\$3,600.00	\$600.00	
214	FINE GRADING	U	1.00	\$21,350.00	\$21,350.00	\$28,500.00	\$28,500.00	(\$7,150.00)	
304.1	SAND (F)	CY	850.00	\$18.50	\$15,725.00	\$9.00	\$7,650.00	\$8,075.00	
304.4	CRUSHED STONE (FINE GRADATION) (F)	CY	940.00	\$23.25	\$21,855.00	\$20.00	\$18,800.00	\$3,055.00	

			A -	PS&E Com	PS&E = NHDOT Cost Estimate			
Item			A-Bidder			Р	A-PS&E	
No:	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Difference
304.45	CRUSHED STONE (FINE GRADATION) FOR DRIVES	CY	75.00	\$23.75	\$1,781.25	\$30.00	\$2,250.00	(\$468.75)
304.499	TEMPORARY CRUSHED STONE (FINE GRADATION)	CY	110.00	\$27.85	\$3,063.50	\$35.00	\$3,850.00	(\$786.50)
304.5	CRUSHED STONE (COARSE GRADATION) (F)	CY	990.00	\$23.25	\$23,017.50	\$19.00	\$18,810.00	\$4,207.50
403.11	HOT BITUMINOUS PAVEMENT, MACHINE METHOD	TON	425.00	\$85.00	\$36,125.00	\$80.00	\$34,000.00	\$2,125.00
403.1109	HOT BITUMINOUS PAVEMENT, MACHINE METHOD, HIGH STRENGTH	TON	735.00	\$95.00	\$69,825.00	\$90.00	\$66,150.00	\$3,675.00
403.12	HOT BITUMINOUS PAVEMENT, HAND METHOD	TON	200.00	\$125.00	\$25,000.00	\$115.00	\$23,000.00	\$2,000.00
403.6	PAVEMENT JOINT ADHESIVE	LF	10,150.00	\$0.80	\$8,120.00	\$0.25	\$2,537.50	\$5,582.50
403.98	HOT BITUMINOUS CONCRETE LEVELING, MACHINE METHOD	TON	975.00	\$80.00	\$78,000.00	\$100.00	\$97,500.00	(\$19,500.00)
403.99	TEMPORARY BITUMINOUS PAVEMENT	TON	100.00	\$95.00	\$9,500.00	\$130.00	\$13,000.00	(\$3,500.00)
417	COLD PLANING BITUMINOUS SURFACES	SY	4,350.00	\$2.20	\$9,570.00	\$5.00	\$21,750.00	(\$12,180.00)
585.32	STONE FILL, CLASS C INTERMIXED WITH HUMUS	CY	40.00	\$55.00	\$2,200.00	\$40.00	\$1,600.00	\$600.00
592.5	MODULAR BLOCK RETAINING WALL	SF	800.00	\$30.00	\$24,000.00	\$35.00	\$28,000.00	(\$4,000.00)
593.411	GEOTEXTILE; PERM CONTROL CL.1, NON-WOVEN	SY	110.00	\$3.00	\$330.00	\$3.00	\$330.00	\$0.00
603.0001	VIDEO INSPECTION	LF	740.00	\$1.25	\$925.00	\$1.25	\$925.00	\$0.00
603.00212	12" R.C. PIPE, 2000D	LF	10.00	\$102.90	\$1,029.00	\$45.00	\$450.00	\$579.00
603.00215	15" R.C. PIPE, 2000D	LF	110.00	\$106.60	\$11,726.00	\$50.00	\$5,500.00	\$6,226.00
603.00218	18" R.C. PIPE, 2000D	LF	620.00	\$51.00	\$31,620.00	\$55.00	\$34,100.00	(\$2,480.00)
604.0007	POLYETHYLENE LINER	EA	14.00	\$150.00	\$2,100.00	\$150.00	\$2,100.00	\$0.00
604.12	CATCH BASINS TYPE B	U	1.00	\$1,950.00	\$1,950.00	\$2,200.00	\$2,200.00	(\$250.00)

			A -	PS&E Com	parison		PS	&E = NHDOT Cost Estimate
Item					-Bidder		S&E	A-PS&E
No:	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Difference
604.22	DROP INLETS TYPE B	U	7.50	\$2,100.00	\$15,750.00	\$1,800.00	\$13,500.00	\$2,250.00
604.324	DRAINAGE MANHOLES, 4-FOOT DIAMETER	U	7.00	\$2,280.00	\$15,960.00	\$2,000.00	\$14,000.00	\$1,960.00
604.4	RECONSTRUCTING/ADJUST ING CATCH BASIN & DROP INLET	LF	40.00	\$350.00	\$14,000.00	\$350.00	\$14,000.00	\$0.00
604.51	RECONSTRUCTING/ADJUST ING SEWER MANHOLES	LF	10.00	\$350.00	\$3,500.00	\$450.00	\$4,500.00	(\$1,000.00)
604.618	REPLACE SEWER MANHOLE FRAME AND COVER (SUPPLIED BY OTHERS)	EA	1.00	\$300.00	\$300.00	\$250.00	\$250.00	\$50.00
604.62	DRAINAGE MANHOLE COVERS AND FRAMES	EA	1.00	\$600.00	\$600.00	\$500.00	\$500.00	\$100.00
605.504	4" PERFORATED CORREGATED POLYETHYL. PIPE UND.	LF	240.00	\$8.00	\$1,920.00	\$30.00	\$7,200.00	(\$5,280.00)
606.000	STEEL BEAM FOR BEAM GUARDRAIL	LF	75.00	\$8.40	\$630.00	\$10.00	\$750.00	(\$120.00)
606.014	6"X8" WOOD POST REPLACE- MENTS FOR BEAM GUARDRAIL POSTS	EA	10.00	\$57.75	\$577.50	\$60.00	\$600.00	(\$22.50)
606.0142	6"X8" WOOD POST ASSEMBLIES FOR BEAM GUARDRAIL POSTS	EA	10.00	\$15.75	\$157.50	\$15.00	\$150.00	\$7.50
606.1255	BEAM GUARDRAIL (TERMINAL UNIT TYPE EAGRT 25 FT) (STEEL POST)	U	4.00	\$1,968.75	\$7,875.00	\$1,750.00	\$7,000.00	\$875.00
606.18001	31" W-BEAM GUARDRAIL WITH 8" OFFSET BLOCK (STEEL POST)	LF	275.00	\$17.33	\$4,765.75	\$20.00	\$5,500.00	(\$734.25)
608.12	2" BITUMINOUS SIDEWALK (F)	SY	930.00	\$13.90	\$12,927.00	\$12.00	\$11,160.00	\$1,767.00
608.24	4" CONCRETE SIDEWALK (F)	SY	65.00	\$43.00	\$2,795.00	\$65.00	\$4,225.00	(\$1,430.00)

			A -	PS&E Com	PS&E	PS&E = NHDOT Cost Estimate		
Item				A	-Bidder		PS&E	A-PS&E
No:	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Difference
608.54	DETECTABLE WARNING DEVICES, CAST IRON	SY	12.00	\$425.00	\$5,100.00	\$350.00	\$4,200.00	\$900.00
609.01	STRAIGHT GRANITE CURB	LF	400.00	\$20.50	\$8,200.00	\$18.00	\$7,200.00	\$1,000.00
609.5	RESET GRANITE CURB	LF	386.00	\$9.50	\$3,667.00	\$7.00	\$2,702.00	\$965.00
611.05206	6" CEMENT LINED DUCTILE IRON WATER PIPE, CL 52	LF	40.00	\$84.00	\$3,360.00	\$130.00	\$5,200.00	(\$1,840.00)
611.50107	3/4" COPPER WATER PIPE	LF	50.00	\$39.00	\$1,950.00	\$95.00	\$4,750.00	(\$2,800.00)
611.51007	3/4" CORPORATION STOP	EA	1.00	\$140.00	\$140.00	\$300.00	\$300.00	(\$160.00)
611.52007	3/4" CURB STOP	EA	1.00	\$225.00	\$225.00	\$325.00	\$325.00	(\$100.00)
611.70006	6" FITTING	EA	6.00	\$600.00	\$3,600.00	\$525.00	\$3,150.00	\$450.00
614.511	CONCRETE PULL BOX 14"	EA	6.00	\$399.00	\$2,394.00	\$300.00	\$1,800.00	\$594.00
614.523	MOLDED PULL BOX 17"X30"	EA	3.00	\$399.00	\$1,197.00	\$350.00	\$1,050.00	\$147.00
614.73114	3" PVC CONDUIT, SCHEDULE 40	LF	130.00	\$21.00	\$2,730.00	\$6.50	\$845.00	\$1,885.00
614.73118	3" PVC CONDUIT, SCHEDULE 80	LF	290.00	\$26.25	\$7,612.50	\$25.00	\$7,250.00	\$362.50
615.03	TRAFFIC SIGN TYPE C (F)	SF	96.00	\$60.00	\$5,760.00	\$40.00	\$3,840.00	\$1,920.00
615.06	TRAFFIC SIGN TYPE CC (F)	SF	20.00	\$22.00	\$440.00	\$12.00	\$240.00	\$200.00
616.101	TRAFFIC SIGNALS	U	1.00	\$99,435.00	\$99,435.00	\$125,000.00	\$125,000.00	(\$25,565.00)
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	80,000.00	\$1.00	\$80,000.00	\$1.00	\$80,000.00	\$0.00
618.7	FLAGGERS	HR	2,100.00	\$23.50	\$49,350.00	\$22.00	\$46,200.00	\$3,150.00
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$37,750.00	\$37,750.00	\$60,000.00	\$60,000.00	(\$22,250.00)
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	4.00	\$5,500.00	\$22,000.00	\$3,500.00	\$14,000.00	\$8,000.00
621.2	RETROREFLECTIVE BEAM GUARDRAIL DELINEATOR	EA	9.00	\$4.40	\$39.60	\$4.00	\$36.00	\$3.60
621.31	SINGLE DELINEATOR WITH POST	EA	47.00	\$36.30	\$1,706.10	\$25.00	\$1,175.00	\$531.10
621.32	DOUBLE DELINEATOR WITH POST	EA	2.00	\$44.00	\$88.00	\$40.00	\$80.00	\$8.00
622.1	STEEL WITNESS MARKERS	EA	6.00	\$27.50	\$165.00	\$30.00	\$180.00	(\$15.00)
622.2	CONCRETE BOUNDS	EA	20.00	\$423.50	\$8,470.00	\$400.00	\$8,000.00	\$470.00

			A -	PS&E Com	parison		PS&E	= NHDOT Cost Estimate
Item				A-Bidder			S&E	A-PS&E
No:	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Difference
628.2	SAWED BITUMINOUS PAVEMENT	LF	2,125.00	\$2.50	\$5,312.50	\$1.50	\$3,187.50	\$2,125.00
632.0104	RETROREFLECTIVE PAINT PAVE. MARKING, 4" LINE	LF	28,000.00	\$0.17	\$4,760.00	\$0.25	\$7,000.00	(\$2,240.00)
632.0118	RETROREFLECTIVE PAINT PAVE. MARKING, 18" LINE	LF	170.00	\$3.30	\$561.00	\$1.25	\$212.50	\$348.50
632.3104	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 4" LINE	LF	175.00	\$1.10	\$192.50	\$0.50	\$87.50	\$105.00
632.3106	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 6" LINE	LF	210.00	\$1.38	\$289.80	\$0.75	\$157.50	\$132.30
632.3118	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 18" LINE	LF	140.00	\$5.50	\$770.00	\$2.50	\$350.00	\$420.00
632.32	RETROREFLECT. THERMOPLAS. PAVEMENT MARKING, SYMBOL OR WORD	SF	250.00	\$11.00	\$2,750.00	\$5.00	\$1,250.00	\$1,500.00
632.911	OBLITERATE PAVE. MARKING LINE, 12" WIDE & UNDER	LF	6,450.00	\$0.66	\$4,257.00	\$0.75	\$4,837.50	(\$580.50)
641	LOAM	CY	250.00	\$26.00	\$6,500.00	\$35.00	\$8,750.00	(\$2,250.00)
645.12	TEMPORARY MULCH	А	0.70	\$1,100.00	\$770.00	\$2,500.00	\$1,750.00	(\$980.00)
645.3	EROSION STONE	TON	100.00	\$23.75	\$2,375.00	\$25.00	\$2,500.00	(\$125.00)
645.43	TEMPORARY SLOPE STABILIZATION TYPE C	SY	1,250.00	\$1.60	\$2,000.00	\$2.00	\$2,500.00	(\$500.00)
645.512	COMPOST SOCK FOR PERIMETER BERM	LF	420.00	\$5.00	\$2,100.00	\$6.00	\$2,520.00	(\$420.00)
645.531	SILT FENCE	LF	2,700.00	\$2.50	\$6,750.00	\$3.00	\$8,100.00	(\$1,350.00)
645.7	STORM WATER POLLUTION PREVENTION PLAN	U	1.00	\$2,500.00	\$2,500.00	\$3,000.00	\$3,000.00	(\$500.00)
645.71	MONITORING SWPPP AND EROSION AND SEDIMENT CONTROLS	HR	150.00	\$52.00	\$7,800.00	\$75.00	\$11,250.00	(\$3,450.00)

		A - PS&E Comparison						PS&E = NHDOT Cost Estimate		
tem				A	-Bidder		S&E	A-PS&E		
No:	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Difference		
646.31	TURF ESTABLISHMENT WITH MULCH AND TACKIFIERS	SY	6,280.00	\$0.42	\$2,637.60	\$2.00	\$12,560.00	(\$9,922.40)		
47.1	HUMUS	CY	330.00	\$14.00	\$4,620.00	\$25.00	\$8,250.00	(\$3,630.00)		
70.0441	RELOCATE HISTORIC FEATURE	U	1.00	\$1,800.00	\$1,800.00	\$1,000.00	\$1,000.00	\$800.00		
70.066	MAILBOX SUPPORT ASSEMBLIES	EA	13.00	\$165.00	\$2,145.00	\$200.00	\$2,600.00	(\$455.00)		
92	MOBILIZATION	U	1.00	\$65,000.00	\$65,000.00	\$80,000.00	\$80,000.00	(\$15,000.00)		
97.11	INVASIVE SPECIES CONTROL AND MANAGEMENT PLAN	U	1.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$0.00		
98.13	FIELD OFFICE TYPE C	MON	10.00	\$1,675.00	\$16,750.00	\$2,000.00	\$20,000.00	(\$3,250.00)		
99	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	25,000.00	\$1.00	\$25,000.00	\$1.00	\$25,000.00	\$0.00		
009.21	TREATMENT OR DISPOSAL OF CONTAMINATED GROUNDWATER (FRAC TANK)	\$	20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00	\$0.00		
010.15	FUEL ADJUSTMENT	\$	20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00	\$0.00		
)10.2	ASPHALT CEMENT ADJUSTMENT	\$	10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00	\$0.00		
				;	\$1,170,307.60		\$1,261,068.00	(\$90,760.40)		